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1.  Find the value of sec? 42° —cosec?®48°.
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2. If (1+cos AfLl—cos A)= % , find the value of secA.

3. If cosecA + cot A= X, find the value of cosecA — cot A.

4.  Write the values of sec0°,sec30°,sec45°,sec60° and sec90°. What happens to

see x when x increase from 0°t090°?.
5. Giventhat tanA= % find the other trigonometric ratios of the angle A.

1 1 1

6. Prove that - - )
secA—tanA cosA secA+tanA

sin? @ —cos? 0 5 1
2sind.cosf® tan’oO’

] 12
7. Ifsin@= E,00 <6 <90°, find the value of

8. If sin(A+B)=1andtan(A-B)= L find the value of (i) tan A + cot B

= ﬁ ,
(i) sec A—cosec B .

9. If secA= x+i, prove that sec A+tan A=2x or i.
4x 2X

tan® @ cot® @

—+ ,— =secHcosecd —2singcos
l+tan“@ 1+cot“ @

10.

tan AtanB +tan AcotB sin’B
- - — =1an A
sin AsecB cos“ A

11. If A+B=90°, prove that \/

12. If secéd—tané = x, show that seco = l[x+1jand tand = 1(1— xj.
2 X 2\ 2

13. Evaluate: siné.sec(90-6).

14. Find the value of (coseczz9—1)tan2 6.

=3 3
15. Prove that S"rTHJr—COSé’:l—sin 6cosé .
sin@ +cosé@

16. If 7sin? A+3cos? A=4, show that tanA=i

J3

17. For any acute angle @, prove that (i) sin? @+cos*@ =1 (ii) 1+cot® # = cosec’d
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19.
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37.

Prove that vsec? @+ cosec26 = tan 6+ cot &

sinA+cosA+sin A—cosA 2
sinA—cosA sinA+cosA 1-2cos’A’

Prove that
If sin A = x and sec A =y then find the value of cotA.
If cosec A =5/3, then find the value of cos A + tan A.
Find the value of tan(65° — ) cot(25° +6).

Find the value of sin38-cos52°.

If cosA =1/2 , find the value of cos A + sec A.
Evaluate: 3cot® 60 +sec” 45°.

cos’d
cot® @ —cos® @
If A, B and C are the interior angles of a AABC, show that

[A+ Bj C
tan =cot— .
2 2

Solve for a:

If sin@=cos@, then find the value of 2tan? 9 +sin? 6 +1

If tan@+cot® =2, find the value of vtan? @+ cot? 6

If tan(A- B):% and tan(A+B)=4+/3, find A and B.

If x=rcos@.sing; y=rsin@.sing; z=rcos¢g. Prove that x* +y? +z* =r?,

3tan25° tan 40° tan50° tan 65 — 1 tan? 60°
Evaluate: 2

4(cos? 29 + cos? 61°)

cot A—cosA  cosecA—1

Prove that = .
cot A+cosA cosecA+1

Given that cos ( A-B) = cosA. cosB + sinA. sinB, find the value of cos15°
in two ways. (i) A=60°,B=45° (ii) A=45B=30

2

If cosecA +cot A=m,show that m2 —1_ cos A
m-+1
Prove that (secd +tang)’ = coseco+1
cosecod —1

If cosecd+coté=q, show that cosecd—cotd = é and hence find the values

of sing@andsecd.
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Prove that tan A + tan A = 2Cc0SecA .

secA-1 secA+1

ARPQ is a right angled at Q. If PQ =5 cm and RQ = 10 cm, find:
(i) sin®P (ii)cos?’ R (iii)sinPxcosP.
If cos@+siné =+/2cos@, show that cosd—sind =+/2siné.
Show that cosec?6 —tan®(90—6)=sin’ 8 +sin*(90 - 9).
AABC is a right angled at C and AC = +/2BC . Prove that ZABC =60°.

1+cosa
l-cosa

Show that =CoSeca + Cot «r .

4cot® 60 +sec® 30 —2sin? 45

Evaluate: — >
sin“ 60 + cos“ 45

If secd+tand = p, then find the value of cosecé.

1

— +———C0s” 45
cot“30 sin“60

Evaluate:




